EWIASHY | 26 8G "¢ 8°6 IT°2 0v:9T 61/2T 0 :22 61/21 — 0 :S1 81/ZI 9z
H XN 89 €z °¢ 0°L 02 2 0 :0 ¥I/S ov:¥ G1/9 0Z:01 €1/§ gz
HYW W L -k | 079 6% '¢ 9°8 222 0Z:11 0a/T1 o¥:. 2g/I1T - 0%2:9 6I/T1 vz
EWISHEY | 6°F 8% "¢ 6°S vz 'z 02:0z 91/¢ 0 :€2 91/¢ 0 :61 91/¢ €z
EWISHEY | 179 16 ¢ I°9 €€ °3 02:91 € /¢ ov:1 ¥ /¢ ov:s ¢ /¢ 2z
HYWW L A—g | VL 0L°¢ Z°8 ve 'z 0Z:L ¥3/0T 0v:81 ¥2/0T — 0 :91 €3/01 12
B s LA— k| TS €8¢ 1°9 6E '3 0z:6 € /¥ 02:22 € /¥ ov:e ¢ /¥ 03
WISy | 0L L6°¢ 9°L 1S °2 0V:€2 Sa/T11 0v:9 L3/I1 - 0%:L S&/11 61
WISy | LS ee v 6°9 9.2 02:€ €1/21 ov:0 ¥I1/2T — 0 :€% 2I/21 81
HYWECT | VUL A7 1°6 18°2 0V:81 61/¥ 0Z:01 02/¥ 0 :€2 91/¥ L1
T L— e | 2V 0S ¥ 1°¢T 88 °Z 0 :22 ¥ /¢ 0 :81 § /€ 0 :ST ¥ /¢ 9T
W% | VS 229 ) v6°2 0 :81 S1/21 0 :0T 91/2T — OV:¥1 S1/21 g1
B %Y | 8°8 €6 'V 9°6 96 2 ov:21 € /01 02:6 V¥ /0T — 0Z2:1 1 /01 Al
YL | 26 9g ¥ 6°6 20 °¢ 0 :G1 L2/01 0 :6 8Z/0T — 0Z:€£2 92/01 e1
HEWFEHEY | 89 8€ °G L. L0°¢€ ov:2 8 /21 0 :L 01/21 — 0 :€2 L /21 21
X W H 172 €9 °G 9°L LE € ov:L €3/21 ov:01 ¥2/21 — 0 :1 €2/21 11
HYW W L - | 8L €29 6°8 ¥8 ¢ 0v:ST ¥1/1 0%:81 SI1/T 0Z:6 FI1/T 0T
HYW W L - g | V6 G1°g €8 g8 ¢ 0 :2 € /9 0 :S ¥ /S 02:1 2 /S 6
EWISHEY | L8 89 "9 I°6 68 "¢ 0 :€2 ¥ /2T 0 :T1 9 /2T — 0Z:61 6C/T1 8
HYWE= | 26 66 °G g8 96 "¢ 0 :€2 0€/31 0v:€2 1€/31 — 0%:€1 S&/31 L
FHEH W L L— | 678 6L°G 0°6 L6 "€ ov:L1 22/6 0 :8 ¥2/6 0 :¥ 2Z/6 9
WISy | V11 GL°S 60T 10 ¥ 0 :0Z 91/TT ov:€1 8I/IT — 0 :3 91/11 g
WISy | €L v0 9 9°L L0V 02:02 91/T 0V:21 L1/T1 0Z:S1 91/T v
HWI%TES | 16 26 °G €6 21 ¥ 02:5 ¢ /1 ov:0 S /I 0 :0 T /1 g
BTy | S0l 9G "L 801 26V 0 % L /I 0 :1 21/1 ov:€1 g /1 z
BEWISTEY | € vl GZ "L 9°¢l VS g ov:2 Vv1/2 ov:€2 S1/2 02:22 11/2 T
__ S) Mif [ | (W) AR | (S) M| (W) =R E =) G 2 T
20 M H 7 B Y W
(92~T) #1102 (Bd) N X%
(M) 2 (B X [0 9—FR




